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QUESTION 1

What symbol depicts a Call Behavior Action? 

A. A 

B. B 

C. C 

D. D 

E. E 

Correct Answer: E 

 

QUESTION 2

To what does an internal structure of a class refer? 

A. the decomposition of that class in terms of interconnected parts 

B. the set of structural features of that class 

C. the inheritance structure of that class 

D. the set of nested classifiers of that class 

E. class and associations owned by that class 

Correct Answer: A 

 

QUESTION 3

In the exhibit, how many of the arrows must provide values for the outgoing arrow to be given a value? 
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A. none 

B. three 

C. one 

D. two 

Correct Answer: B 

 

QUESTION 4

What kind of element is a central buffer? 

A. object node 

B. control node 

C. action 

D. behavior 

E. activity 

F. state 

Correct Answer: A 

 

QUESTION 5

In the exhibit, if the incoming arrows provide one control value and two data values, what values are provided to the
outgoing arrows? 
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A. the two data values 

B. a single control value 

C. a single data value combining the original two data values 

D. both the control and two data values 

Correct Answer: A 
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